F's JOPENBUILDS

OpenBuilds C-Beam Machine

SKU 1060-BUNDLE

SKU 1060-S-LP

SKU 2675-By-the-Foot

Flexible Tubing 1'

SKU 2675-By-the-Foot

Flexible Tubing 1.5'

SKU 2685

Flexible Tubing Clamps

SKU 2805-Kit

Xtension Limit Switch Kit

Check |Qty. [SKU Description Check |Qty. [SKU Description
14 |SKU 20 Low Profile Screws M5 - 25mm (Singles) 1 SKU 05 - LP C-Beam Linear Rail - 250mm - Silver
15 |SKU 90 Aluminum Spacers - 6mm (Singles) 2 SKU 10 - LP C-Beam Linear Rail - 500mm - Silver
6 SKU 95 Aluminum Spacers - 40mm (Singles) 2 SKU 20 - LP 8mm Metric Acme Lead Screw - 540mm
4 SKU 125 Low Profile Screws M5 - 30mm (Singles) 1 SKU 25 - LP 8mm Metric Acme Lead Screw - 290mm
3 SKU 155 1/4" x 8m Flexible Coupling 1 SKU 120-LP-B |Slot Cover/Panel Holder - 500mm - Black
6 SKU 175 Aluminum Spacers - 3mm (Singles) 1 SKU 125-LP-B |Slot Cover/Panel Holder - 250mm - Black
8 SKU 185 Slot Washers - 15x5x2mm 4 SKU 160 - LP  |V-Slot Linear Rail 20x60 - 500mm - Silver
7 SKU 226 Eccentric Spacers - 6mm 4 SKU 290 - LP  |V-Slot Linear Rail 20x60 - 250mm - Silver
7 SKU 230 Drop In Tee Nuts
10 |SKU 465 Xtreme Solid Wheel Kits
26 |SKU 490 Cast Corners SKU 1060-B-LP
78 |SKU 536 Tee Nuts - M5 (Singles) Check |Qty. [SKU Description
4 SKU 540 Black Angle Corner Connectors 1 SKU 06 - LP C-Beam Linear Rail - 250mm - Black
2 SKU 545 L Brackets - Single 2 SKU 12 - LP C-Beam Linear Rail - 500mm - Black
1 SKU 585 Build Plate 2 SKU 20 - LP 8mm Metric Acme Lead Screw - 540mm
2 SKU 610 90 Degree Joining Plate 1 SKU 25 - LP 8mm Metric Acme Lead Screw - 290mm
1 SKU 621 V-Slot Gantry Plate - Universal 1 SKU 120-LP-B |Slot Cover/Panel Holder - 500mm - Black
15 |SKU 675 Cable Ties (Singles) 1 SKU 125-LP-B |Slot Cover/Panel Holder - 250mm - Black
12 |SKU 715 End Cap 4 SKU 140 - LP  |V-Slot Linear Rail 20x60 - 500mm - Black
33 |SKU 720 Self Tapping Screws 4 SKU 265 -LP  |V-Slot Linear Rail 20x60 - 250mm - Black
30 |SKU 750 Low Profile Screws M5 - 20mm (Singles)
6 SKU 760 Low Profile Screws M5 - 55mm (Singles)
6 SKU 780 Ball Bearing 688Z 8x16x5 3 SKU 518 NEMA 23 Stepper Motors
6 SKU 835 8mm Shim 1 SKU 2790 BlackBox Motion Control System
6 SKU 840 Lock Collar - 8mm 1 SKU 591-Set  |24V/16A Power Supply Bundle - 110V
4 SKU 876 Xtreme Mini V Wheel Kits
50 |SKU 878 Low Profile Screws M5 - 10mm (Singles)
29 |SKU 946 Low Profile Screws M5 - 8mm (Singles)
6 SKU 965 C-Beam End Mount
1 SKU 970 C-Beam Gantry Plate
1 SKU 990-Set Router/Spindle Mount
2 SKU 1030 Socket Head Cap Screws M4 - 6mm
3 SKU 1055-Set Anti-Backlash Nut Block
1 SKU 2145 Balldriver Screw Driver Set
1 SKU 2225-Set Spindle/Router LED Light Ring
1 SKU 2265 OpenBuilds 8mm Spanner Wrench
1 SKU 2544 Xtension Wire 2C - 3'
3 SKU 2556 Xtension Wire 4C - 3'
1
1
6
3
3

SKU 2905

Xtension Wire 3C - 3'

vC




